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show work where possible
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la. (3 Pts) A decomposition reaction has a rate constant of 0.012 yr_l. Determine the half-life. ({1 fo Cho s t) st ard €
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b. (4) If the initial concentration of the react 1n (la) is 0.120 M, what will the concentration be after 25 years?
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2. The table presents data for the reactlon 2Hy(g) + 2NOgg) e 2H20(g)+N2(g)
Initial Concentration (mol-L-1) Initial

Exp. [NO]x 1073  [Hy]x 103 Rate M/s
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2b. (3 Pts) Determine the value of the rate constant for 2a. - ﬁ D\Z_/ 6 - 7'
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3. (6 Pts) The rate constant of a reaction is 5.7 x 107 s at 25°¢
the rate constant at 95°C‘7
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4. (4 Pts) List and explain (how) two factors that affect rate.
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show work where possible

rate = k rate = k[A] rate=Kk[AF[A]i=-kt +[A], In[A],=-kt+In[A], R=8.314 J/(moleK)
E
1/[A =kt + 1/[A)y, ti2=[A)s/2k tiz = 0.693/kty, = 1/k[A], ln—lil— = (i - i) e=mc’
k, RT, T,

la. (3 Pts) A decomposition reaction has a rate constant of 0.012 yr~1. Determine the half-life.
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b. (4) If the initial concentration of the'react il_l (1a) is 0.120 M, what will the concentration be after 85 years?
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2. The table presents data for the reaction: 2Hy(g) + 2NOyg) K 2H,0O¢g) + No(g)
Initial Concentration (mol-L-1) Initial
Exp. [NO1x 103  [Hp]x 103  Rate M/s
I 6.0 1.0 18
II 6.0 2.0 36
11 1.0 6.0 3
v 2.0 6.0 12
a. (5 Pts) What is the rate law for this reaction? "'C". c/ W A (,»/f == -
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2b. (3 Pts) Determine the value of the rate constant for 2a. ) -
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3. (6Pts) The rate constant of a reaction is 6.7 x 10 s™" at 25°C. The activation energy is 54.6 kJ/mol. What is the value of
the rate constant at 95°C? .

: A S

. , Lo Lr o7 E gt d f o - N
P e AR LIEL
N "l“"}’ / Do ! " P o [N —
C. 1 X0~ l 5/‘\ SRR Y VAV A
) N CPE A
i e
4., (4 Pts) List and explain (how) two factors that affect rate. AR
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